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PART—A/Y0—3F
( Employability Skills )
( Frcarorcann e )
1. Fill in the blanks (any foun : s don

I oA o3 41 (Rearen wilddy) -

(@ is an example of verbal communication. (Eye
contact/Public speech)

X Ry R ey 1 (% e /e sre)

(b) is a virus that disguises itself and appears to be
useful software. (Trojan Horse/Worm)

e Wt oA Ry Ree wicere ey we due S
BROCR (W e | (Bem /Ry

{c) A good feedback should be . (opinion-based/timely)
b SIF YOS 34 A | (SR /e

(d) A doctor who has his/her own clinic, is a _____ person.
(self-employed /wage-employed)
feor Rie o fRem am _ of ) (Rt /veRe
fRrnfEre)

(e) 1s the skill to plan and control how yvou spend the
hours of your day. (Time  management/Stress
management)

(0% o7 @GRy e I g fiahR bR SR ww
forrmer o = 1 (o et /R By Qi)
2. Answer the following questions (any three) . 2x3=6

oS fraeae Tey fory (R o)

(@) Write the function of Navigation Keys and Command Keys.
AT B e I P % By |
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(b)) What do you mean by Motivation? What are its types?
e oA o g mm o R e TP

(¢ What is the function of BIOS?
BIOSa =14 32

(d) Write any two ways in which an entrepreneur affects a
society.
T WA e S (@A 4o o, ;T A Fe 1o
T foran |

(e} Write the keyboard shortcut to Redo and Undo.
Redo 5% Undo 344t f&4’S sbab 41 |

PART—B/4%—4
( Vocational Skills )
( 3feers wFel )

3. Choose the correct answer from the following (any five) : 1x5=5

waTs FRPE A1 W% Teach] Ak Terea (e <o) -

(@) The text or image which appears faintly in the background
of a page is called ;
o “gfae Ferera o fan vl a1 2R PRI 24 |

(i) watermark

G

(ii) trademark

(iii) copyright

(iv) embossing

GIafde
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(b) Which is the shortcut to open an existing database?

BT ST, 4 i cferatal BEG R P! ?
(i) Ctrl+D (ii) Ctrl+O
(iii) Ctrl+E (iv) Ctrl+F

(c) What kind of hazard can occur in IT industry?

SR, 5. Temre e Rem 27 o 2
(i) Biological
Cfas
(i) Chemical
BlGIEIES
(iii) Physical
RIRIIER:

(iv) Ergonomic

GF9

(d) Which of the following is not a type of text datatype?

O (PITCH! (GO TBBRAR BT 29 77w 2
(i) Memo (i) Varchar
(iii) Float (iv) Char
(e) Which of the following operations cannot be performed
using LibreOffice Calc?
ol (JICH] I LibreOffice Calc I92R I T4+ IR (7RI 2

(i) Store and manipulate data
R IRTH A AT I

(ii) Create graphical representation of data

©F aNfEEca Sogiem S 391

(iii) Analysis of data
CRIRE&EE

(iv) Mail merge

e e
[ Contd.

oot Ui
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()  Which of the following is a valid Macro Name?

WA (T BT LA it AT 2 m
() lformatword (ii) format wox"d
(i) fon?té_"word (iv) format word

4. State whct}{c}tv‘fthc following sentences are True or False
(any five) : 1%5=5

GHS it AIPTYR W 7w o (R o)

(a) Predefined style cannot be updated by Drag and Drop
method.

sffifRe @ (Style) cgot w1 Gof offe araza R wegeh afa
i |

(b) The default function while using consolidation is MAX.

PABACLD JRLA ICANS fou"H FLe-ch! Care MAX.

(¢) Once created, Macro can be used any number of times.

G R 1 (N R MY I{ JER G 41 )

(d) The default file extension for LibreOffice Base is .odb.
LibreOffice Based A f&" 0 ¥¥& @¥eb-ad (20 .odb.

(e) Custom style allows to apply style at different places in the

document.
Custom DI 93 TFewrve REH o @ oews 4 SRfe
ficw | i

[OREY
() A note or suggestion can be added in the spreadsheet
using Insert Comment.

Insert Comment JIRTR IR CATIOS @bl BRSO QS
R R |
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S. Write the full forms of the following abbreviations (any four) : 1x4=4
oS FAPTRS < WIS s a1 (Ricereent Sife) :
(@) SQL
(b) RDBMS
(c) JPEG
(d) ToC
(e) RSI
() CPR

6. Write short notes on the following (any three) : 2x3=6
O TR &1 5 b o (R Rofiey) -
(@ Grouping Drawing Objects
SR T ok
(b) DBMS
fe. R. @%. @p.
(c) Track Changes
G ooy
(d) Goal Seek
STF] SR

(e) Referential Integrity
(TR |

7. Write differences between the following (any foun 3x4=12
oS VAR N2 ey <1 (R wifR6y) -
(@) Resizing Image and Cropping Image
=R Torw e @i 2w
(b) Forms and Queries in RDBMS
T e R 9k . R 9w,z
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(c) Boolean and Binary datatyp

ﬁ ";.-:u 9

¢
(d) Merging and Comparing spreadsheet

CRTRID GFIS SAF Po1 F4I
(e) Static and Dynamic report

Bfbe e vz [P

8. Answer the following questions (any two) :

wors i eppTEd Ted fora (Rt go1)

(@) What is the advantage of using table
LibreOffice Writer? Write the steps to 1

document.

4x2=8

of contents n

nsert ToC in a

LibreOffice Writer & fvge el Iz F4R R &7 9@
LibreOffice Writer SJCI09 R e STERE FRALe

SICHAPTR ol |

(b) What are Reports? Write the steps to create a Report in

LibreOffice Base.

fae"%1 et & @7 LibreOffice Base™ a5l RS iR s

TP o141 |

(0 What is occupational overuse syndrome? What cautions
are to be taken while working on the computer?

WWWW%?@WWWW%%

RG] SIEeTT IR = 2

(d) How is redundancy or inconsistency controlled in a

database? Explain-with an example.

Wuﬁaﬁ@@ﬁﬂ#ﬁw @S e 391 =2 901 THRad

@t q&® o

* % %
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